STEERING & SUSPENSION PARTS

Ajuo sasodind uolrewIoUl 10§ PasN B1. JUSWND0P SIY3 Ul papn|oul elep pue siaquwinu yied ‘suondussep jonpoid ||v
1pI|dBWE 16]1q 929PES 19|119A JA IiB|BIEWNU BIEd ‘Liejewue)yide unin wny Iepuewnyop ng X

SINALI M3N




A TXNOROT

w

TEKNOROT REF: A-1088

Suspension Control Arm and
Ball Joint Assembly

STEERING 6 SUSPENSION PARTS

for vehicles with sports
suspension

Weight: 0513  Length: 273
MODEL NO BOODY CODE YEAR DIRECTIONS
: Front Right
A4 802 8E5, B5 1954-2001 Upper Forward
COMPONENTS NUMBER NAME DIRECTIONS
Control Arm
. SB657 Bushing Upper

TEKNOROT REF: A-1088
Suspension Control Arm and

for vehicles with sports

Weight: 0513  Length: 273
MODEL NO BOOY CODE YEAR DIRECTIONS
i Front Right
A4 8E2 BE5, B6 2001-2004 Upper Forward
COMPONENTS NUMBER NAME DIRECTIONS
Control Arm
. SBE57 Bushing Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR ALJ/

OEMNO

8E0407506P

OEMNO

8004075158

ADAPTABLEFOR ALJ/

OEMNO

BE0407506P

OEMNO

8004075158



e 5 T&XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: A-1088

Suspension Control Arm and
Ball Joint Assembly

Weight: 0513  Length. 273
MODEL NO BODY CODE
EXEOQ
COMPONENTS NUMBER
SB657

TEKNOROT REF: A-1088
Suspension Control Arm and

ADAPTABLEFOR SEAT

for vehicles with sports
suspension
YEAR DIRECTIONS
. Front Right
2008-2013 Upper Forward
NAME DIRECTIONS
Control Arm Ubper
Bushing P

for vehicles with sports

Weight: 0513  Length: 273
MODEL NO BODY CODE YEAR DIRECTIONS
: Front Right
SUPERB (3U4) 2002-2008 Upper Forward
COMPONENTS NUMBER NAME DIRECTIONS
Control Arm
. SBE57 Bushing Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

8E0407506P

OEMNO

8004075158

ADAPTABLEFOR SHODA

OEMNO

BE0407506P

OEMNO

8004075158



~\ TXNOROT

T .
\‘ STEERING E SUSPENSION PARTS i January

TEKNOROT REF: A-1088 ADAPTABLEFOR /OL KSWAGEN
Suspension Control Arm and for vehicles with sports &8 n '
Ball Joint Assemb/ |74 Suspens/on

Weight: 0513  Length. 273

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
. Front Right
PASSAT B5 655 1997-2005 Upper Forward 8E0407506P
COMPONENTS NUMBER NAME DIRECTIONS OEMNO

Control Arm
. SB657 Bushing Upper 8004075158

TEKNOROT REF: A-1089 ADAPTABLEFOR AUD!

Suspension Control Arm and for vehicles with sports
Ball Joint Assembly suspension

Weight: 0513  Length: 273

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
A4 80266565 1994-2007  OTLLertUpper BE0407505P
Forward
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
. SB657 CL;’ZQ %’;‘g m Upper 8004075158

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: A-1089 ADAPTABLEFOR AUD!

Suspension Control Arm and

for vehicles with sports
Ball Joint Assembly

suspension

Weight: 0,513 Length: 273

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Ad 8E2 865,86 2001-2004 TONELET Lpper 8E0407505P
Forward
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Control Arm
. SB657 Bushing Upper 8004075158

TEKNOROT REF: A-1089 woAPTAELEFoR SEAT
Suspension Control Arm and for vehicles with sports
‘_'_ i
Weight: 0513  Length: 273
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
. Front Left Upper
EXEO 2008-2013 Formard 8E0407505P
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
. SB657 ngg %’ﬁg m Upper 8004075158

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




5 TXNOROT

T .
QW srecoino o suspension panrs 21 January

TEKNOROT REF: A-1089 ADAPTABLEFOR SHODA
Suspension Control Arm and for vehicles with sports e
Ball Joint Assembly suspension

Weight: 0513  Length: 273

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: Front Left Upper
SUPERB (3U4] 2002-2008 Forward 8E0407505P
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Control Arm
. SB657 Bushing Upper 8004075158

TEKNOROT REF: A-1089 ADAPTABLEFOR YOI KSWAGEN
Suspension Control Arm and for vehicles with sports 55 an '
Ball Joint Assembl| |74 Suspens/'an

Weight: 0513  Length: 273

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Left Upper
PASSAT B5,B55 1897-2005 Forward 8ED407505P
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Control Arm
. SB 657 Bushing Upper 8004075158

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: A-1098 ADAPTABLEFOR ALIDI
Suspension Control Arm and

for vehicles with sports

Ball Joint Assembly :
Suspension
N
Weight: 0491  Length: 24683
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
: Front Right
A4 802, 8E5, B5 1994-2001 Upper Rearward 8E0407510P
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Control Arm
. SB657 Bushing Upper 8004075158

TEKNOROT REF. A-1098 ADAPTABLEFOR ALJD/
Suspension Control Armand g apinles with sports
Ball Joint Assembly :
suspension
N
Weight: 04391  Length: 2483
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
i Front Right
A4 8E2 8E5, B6 2001-2004 Upper Rearward BE0407510P
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Control Arm
. SB657 Bushing Upper 8004075158

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING 6 SUSPENSION PARTS

e 5 T&XNOROT

TEKNOROT REF: A-1098 ADAPTABLEFOR SEAT
Suspension Control Arm and ; :
Ball Joint Assermbly for vehicles with sports

suspension

Weight: 0491  Length.: 2483

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
. Front Right
EXEOD 2008-2013 Upper Rearward 8E0407510P
COMPONENTS NUMBER NAME DIRECTIONS OEMNO

Control Arm
. SB657 Bushing Upper 8004075158

TEKNOROT REF: A-1098 ADAPTABLEFOR SHODA

Suspension Control Arm and for vehicles with sports
Ball Joint Assembly suspension

Weight: 04391  Length: 2483

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: Front Right
SUPERB (8U4] 2002-2008 Upper Rearward 8E0407510P
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Control Arm
. SB657 Bushing Upper 8004075158

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TXNOROT

STEERING 6 SUSPENSION PARTS

w

TEKNOROT REF: A-1098
Suspension Control Arm and

for vehicles with sports

]
L january

ADAPTABLEFOR V/OLKSWAGEN

Ball Joint Assemb/ .
4 suspension
6;""‘- X é
Weight: 0491  Length.: 2483
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
PASSAT B5 B55 1897-2005 Upper Rearward 8E0407510P
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Control Arm
. SB657 Bushing Upper 8004075158
ADAPTABLEFOR AL/

TEKNOROT REF: A-1099
Suspension Control Arm and

- for vehicles with sports

Ball Joint Assemb/, ;
4 suspension
é — 45 @
Weight: 04391  Length: 2483
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
A4 802 86585 1994-p001 | TOMELertUpper 8E0407509P
Rearward
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Control Arm
. SB657 Bushing Upper 8004075158

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: A-1099 ADAPTABLEFOR ALJD/
Suspension Control Armand —— gor apiles with sports
Ball Joint Assembly :
Susperision
i
Weight: 0491  Length: 2483
MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
Ad 52 86585 zoo1-2004 T Ugf Left Upper BE0407509P
earward
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Control Arm
. SB657 Bushing Upper 8004075158

TEKNOROT REF: A-1099 ADAPTABLEFOR SEAT

Suspension Control Arm and

Ball Joint Assembly for vehicles with sports

suspension

b

Weight: 04391  Length: 2483

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Left Upper
EXEQ 2008-2013 Pearward 8ED407509P
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Control Arm
. SB657 Bushing Upper 8004075158

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




TEKNOROT REF: A-1099 ADAPTABLEFOR SHITA
Suspension Control Arm and for vehicles with sports a
Ball Joint Assembly suspension

‘ S g o @

L J

Weight: 04391  Length: 2483

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
: Front Left Upper
SUPERB (3U4] 2002-2008 Pearward 8E0407509P
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Control Arm
. SB657 Bushing Upper 8004075158

TEKNOROT REF: A-1099 ADAPTABLEFOR /L KSWAGEN
Suspension Control Arm and . . = — '
Ball Joint Assembly for vehicles gj;_g:ﬁ ggf?

b

Weight: 04391  Length: 2483

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Left Upper
PASSAT B5,B55 1897-2005 Pearward 8ED407509P
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Control Arm
. SB 657 Bushing Upper 8004075158

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: AC-276 ADAPTABLEFOR ACUIRA
Suspension Stabilizer Bar Link

¥

& -®

Weight: 0515  Length: 347  Bolt Metric: M12X1,25

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
MOX 2014-2019 Front Right 51320T75A01
TEKNOROT REF: AC-276 soweraseroR HONDA

Suspension Stabilizer Bar Link

¥

® @

Weight: 0,515 Length: 347  Bolt Metric: M12X125

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PASSPORT 2019- Front Right 515207T75A01

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: AC-276
Suspension Stabilizer Bar Link

.4

® -

Weight: 0515  Length: 347  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR
pPILOT 2016-2019
TEKNOROT REF: AC-276
Suspension Stabilizer Bar Link
@

Weight: 0515  Length: 347  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR
RIDGELINE 2017-2019

anuary

ADAPTABLEFOR HONDA

DIRECTIONS

Front Right

OEMNO

51320775A01

ADAPTABLEFOR HONDA

DIRECTIONS

Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

515207T75A01



TEKNOROT REF: AC-277 ADAPTABLEFOR ACLIRA
Suspension Stabilizer Bar Link

S &

Weight: 0515  Length: 347  Bolt Metric: M12X1,25

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
MOX 2014-2019 Front Left 51325T/5A01
TEKNOROT REF: AC-277 soweraseroR HONDA

Suspension Stabilizer Bar Link

& &

Weight: 0,515 Length: 347  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PASSPORT 2019- Front Left 51525T75A01

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF. AC-277
Suspension Stabilizer Bar Link

S &

Weight: 0515  Length: 347  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR
pPILOT 2016-2019
TEKNOROT REF: AC-277
Suspension Stabilizer Bar Link
&
L]
Weight: 0515  Length: 347  Bolt Metric: M12X1,25
MODEL NO BODY CODE YEAR
RIDGELINE 2017-2019

anuary

ADAPTABLEFOR HONDA

DIRECTIONS

Front Left

OEMNO

515325T75A01

ADAPTABLEFOR HONDA

DIRECTIONS

Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

51525T75A01



{5 T=NOROT -

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. AC-278 ADAPTABLEFOR ACURA
Lateral Arm

, .«

Weight: 1218  Length. 4342

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
T 4th GEZ'QUAQ’ 2009-2014 Rear Lower 52350TACACO
TEKNOROT REF- AC-278 soAPTABLEFOR ACLIA
Lateral Arm

, .«

Weight: 1218  Length: 4342

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

TSX 2nd Gen CUZ2 2009-2014 Rear Lower 52350TACAOO

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. AC-278 ADAPTABLEFOR HONDA
Lateral Arm

.

Weight: 1218  Length. 4342

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
ACCORD Vil 2008-2012 Rear Lower 52350TAOACO
TEKNOROT REF: AC-278 ADAPTABLEFOR HONDA
Lateral Arm

.

Weight: 1218  Length: 4342

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CROSSTOUR 2010-2015 Rear Lower 52350TADAOO

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(s TEnoroT -

TEKNOROT REF: B-1088 ADAPTABLEFOR BMW

Suspension Control Arm and
Ball Joint Assembly

O £ {m.,ﬁ; J

Weight: 2381 Length: 386  Bolt Metric. M14X1,5

Xdrive - Aluminium

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO

3-SERIES 620 2018- LOCC o IFS;QVC; ’ 31106894664
TEKNOROT REF: B-1089 T
Suspension Control Arm and Xdrive - Aluminium

Ball Joint Assembly

Weight: 23681  Length: 366  Bolt Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
3-SERIES G20 2018- Forward 31106894663

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: B-1118

Suspension Control Arm and
Ball Joint Assembly

0 T )

Weight: 2323  Length: 3868  Bolt Metric. M14X1,5
MODEL NO BODY CODE

3-SERIES G20

TEKNOROT REF: B-1119

Suspension Control Arm and
Ball Joint Assembly

Weight: 2323  Length: 368  Bolt Metric: M14X1,5
MODEL NO BOOY CODE

I-SERIES G20

RWD - Aluminium

YEAR

2018-

ADAPTABLEFOR BMW

nuary

DIRECTIONS

Front Right
Lower Forward

RWD - Aluminium

YEAR

2018-

OEMNO

311066854662

ADAPTABLEFOR BMW

DIRECTIONS

Front Left Lower
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

31106894661



e —
{» T&XNOROT

TEKNOROT REF: B-1148

Suspension Control Arm and Grand Tourismo/RWD

Ball Joint Assembly

o oW

Weight: 2039  Length: 3335  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR
6-SERIES G32 2017-
COMPONENTS NUMBER NAME
BM-BS165
BM-BS164

TEKNOROT REF: B-1148

Suspension Control Arm and
Ball Joint Assembly

o oW

Weight: 2039  Length: 3335  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR
7-SERIES G11 G612 2017-
COMPONENTS NUMBER NAME
BM-BS165
BM-BS164

ADAPTABLEFOR BMW

DIRECTIONS

Front Right
Lower Rearward

DIRECTIONS

RWD

DIRECTIONS

Front Right
Lower Rearward

DIRECTIONS

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

31106861170

OEMNO

ADAPTABLEFOR BMW

OEMNO

31106861170

OEMNO




e —
{» T&XNOROT

TEKNOROT REF. B-1149

ADAPTABLEFOR BMW

Suspension Control Arm and Grand Tourismo/RWD
Ball Joint Assembly
&
; b- .\, e ; —
Pe
Weight: 2039  Length: 3335  Bolt Metric: M16X15
MODEL NO BOOY CODE YEAR DIRECTIONS
6-SERIES 632 17~ FONLenLower
COMPONENTS NUMBER NAME DIRECTIONS
BM-BS165
BM-BS164
TEKNOROT REF. B-1149
Suspension Control Arm and RWD
Ball Joint Assembly
.. b‘" e ; —
Pe O
Weight: 2039  Length: 3335  Bolt Metric: M16X15
MODEL NO BOOY CODE YEAR DIRECTIONS
7-SERIES G11 GI2 2017- & Og[e g‘fx aLdeBr
COMPONENTS NUMBER NAME DIRECTIONS
BM-BS165
BM-BS164

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

311066861169

OEMNO

ADAPTABLEFOR BMW

OEMNO

31106861169

OEMNO




Lt

STEERING 6 SUSPENSION PARTS

ADAPTABLEFOR GHEVROLET

TEKNOROT REF: CH-1068
Lateral Arm YEAR ONLY

1997-2003
Weight: 1393  Length: 4533  Bolt Metric: M10X15
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MALIBU 6th Gen 19597-2005 Rear Right 22639909
TEKNOROT REF: CH-1068 ADAPTABLEFOR O DSMOBILE
Lateral Arm
Weight: 1393  Length: 4533  Bolt Metric: M10X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ALERO 1999-2004 Rear Right 22639909

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT 21 anvary

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: CH-1068 ADAPTABLEFOR (3 DSMOBILE

Lateral Arm

i CO—

Weight: 1393  Length: 4533  Bolt Metric: M10X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CUTLASS 1997-2009  Rear Right 22639909
TEKNOROT REF: CH-1068 ADAPTABLEFCR PONTIAC

Lateral Arm

Weight: 1393  Length: 4533  Bolt Metric: M10X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

GRAND AM 5th Gen 19939-2005 Rear Right 22639909

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt

STEERING 6 SUSPENSION PARTS

ADAPTABLEFOR GHEVROLET

TEKNOROT REF: CH-1069
Lateral Arm YEAR ONLY

1997-2003
Weight: 1393  Length: 4533  Bolt Metric: M10X15
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
MALIBU 6th Gen 19597-2005 Rear Left 22639751
TEKNOROT REF: CH-1069 ADAPTABLEFOR O DSMOBILE
Lateral Arm
Weight: 1393  Length: 4533  Bolt Metric: M10X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
ALERO 1999-2004 Rear Left 22639751

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF.: CH-1069
Lateral Arm

o —

Weight: 1393  Length: 4533  Bolt Metric: M10X15

MODEL NO BODY CODE

CUTLASS

TEKNOROT REF: CH-1069
Lateral Arm

o —

Weight: 1393  Length: 4533  Bolt Metric: M10X1,5

MODEL NO BODY CODE

GRAND AM 5th Gen

21sanvary

ADAPTABLEFOR (JL.DSMOBILE

YEAR DIRECTIONS OEMNO
1997-2009 Rear Left 22639751
ADAPTABLE FOR pDN T/A C
‘_s‘.;-: 7
YEAR DIRECTIONS OEMNO
1899-2005 Rear Left 22639751

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. CH-988 ADAPTABLEFOR GHEVROLET

Ball Joint Assembly

g

&

Weight: 1206  Length: 2945  Bolt Metric: M14X2

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
CAMARD 6th Gen omg- RO 23317366
TEKNOROT REF. CH-989 e VROLET

Suspension Control Arm and with fe2/fe3 suspension i T g = :

Ball Joint Assembly

-
S

Weight: 1206  Length: 2945  Bolt Metric: M14X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
CAMARO 6th Gen 2016- Pearward 23317365

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(s TENOROT

TEKNOROT REF: DC-348 ADAPTABLEFOR JACIA

Suspension Control Arm and
Ball Joint Assembly

Weight: 3209  Length: 3324  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right

DUSTER 2018 e 545040280R

COMPONENTS NUMBER NAME DIRECTIONS OEM NO

. .
k e DC-354 SUsp EJ’; ig ‘;” Ball | rront Lower 545040280R* 545055413R*
LTy
TEKNOROT REF: DC-348S ADAPTABLEFOR [JALIA
Suspension Control Arm

Weight: 2401  Length: 2685

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
. Front Right
DUSTER 2018 Lower 545040280R

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




(s TENOROT

TEKNOROT REF. DC-349 ADAPTABLEFOR JACIA

Suspension Control Arm and
Ball Joint Assembly

Weight: 3209  Length: 3324  Bolt Metric. M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
DUSTER 2018- Front Left Lower 545055413R
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
. .
k e DC-354 SUSQEJZ%‘;” Ball | rront Lower 545040280R* 545055413R*
LTy
TEKNOROT REF: DC-349S ADAPTABLEFOR [JALIA
Suspension Control Arm

Weight: 2401  Length: 2685

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

DUSTER 2018- Front Left Lower 545055413R

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




[ =
{» T&XNOROT

TEKNOROT REF. DC-353K

Steering Tie Rod Hit with accessories

Weight: 0486  Length: 2175  Bolt Metric: M14X1,5  Housing Metric: M14X1,5
MODEL NO BOODY CODE YEAR DIRECTIONS
DUSTER 2018- Front
TEKNOROT REF. FI-EM107
Engine Mounting Exhaust Emission Norm:
Euro6
Weight: 227  Length: 2014
MODEL NO BOOY CODE YEAR DIRECTIONS
EGEA 356, TIPO 2015- Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

nuary

ADAPTABLEFOR [JACIA

OEMNO

485215285R

ADAPTABLEFOR FIAT

OEMNO

52017618



-
{5 TXNOROT

TEKNOROT REF: FI-EM112

Engine Mounting Exhaust Emission Norm:
Euro 6
Weight: 227  Length: 2014
MODEL NO BODY CODE VEAR DIRECTIONS
EGEA 356, TIPO 2015- Front Left

TEKNOROT REF: FO-1078

Lateral Arm without electronic drive
dynamics
Weight: 255  Length: 3515
MODEL NO BODY CODE YEAR DIRECTIONS
GALAXY 2006-2015 Rear Upper
COMPONENTS NUMBER NAME DIRECTIONS
< SB1259 Control Arm | oo ower
Bushisng

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

| anuary

ADAPTABLEFOR FIAT

OEMNO

52017605

ADAPTABLEFOR [FORD

OEMNO

1737518, 1387629

OEMNO

552503R000% 556250350007,
5525030010*



[ =
{» T&XNOROT

TEKNOROT REF: FO-1078

Lateral Arm without electronic drive
dynamics
Weight: 255  Length: 3315
MODEL NO BOOY CODE YEAR DIRECTIONS
S-MAX 2006-2015 Rear Upper
COMPONENTS NUMBER NAME DIRECTIONS
4 SB1239 controlArm Rear Lower
Bushisng
TEKNOROT REF: FO-10982
Lateral Arm
Weight: 2013  Length: 521  Bolt Metric. M12X1,25
MODEL NO BOOY CODE YEAR DIRECTIONS
ESCAPE 1stGen 2001-2007  Rear Right Lower
COMPONENTS NUMBER NAME DIRECTIONS
-
' Fo-1145 | OUSPENSONBAl L ponr ) ower
Joint

e

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

anuary

ADAPTABLEFOR FORD

OEMNO

1737518, 1367629

OEMNO

5562503R000%, 565250350007,
5525030010*

ADAPTABLEFOR [FORD

EFS128500, YLEZ5500AC

OEMNO

EF91285007, YL8Z5500AC*



Lt oy

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: FO-10982 ADAPTABLEFOR F{R[D
Lateral Arm

-

r—

Weight: 2013 Length: 521  Bolt Metric: M12X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
MAVERICK 2001-2005  Rear Right Lower EF9128500, YL8Z5500AC
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
-
ﬂ FO-1145 S“SDEJZ%‘;” Ball | pear Lower EF9128500% YL8Z5500AC*
TEKNOROT REF: FO-10982 ADAPTABLEFOR MAZA
Lateral Arm

-

r—

Weight: 2013  Length: 521  Bolt Metric. M12X1,25

MODEL NO BODY CODE VEAR DIRECTIONS OEM NO
TRIBUTE 1stGen 2001-2006  Rear Right Lower EF9128500, Y1.875500A0
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
-
ﬁ FO-1145 SUSDQJZ%‘?” Ball | poar Lower EF9128500* Y1L875500AC*

=

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: FO-10992 ADAPTABLEFOR F{R[D
Lateral Arm

,

Weight: 2013 Length: 521  Bolt Metric: M12X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
ESCAPE 1st Gen 2001-2007  Rear Left Lower EF9128550, YL8Z5500A0
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
-
ﬂ FO-1145 S“SDEJZ%‘;” Ball | pear Lower EF9128500% YL8Z5500AC*
TEKNOROT REF: FO-10992 ADAPTABLEFOR FOR[)
Lateral Arm

,

Weight: 2013  Length: 521  Bolt Metric. M12X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
MAVERICK 2001-2005  Rear Left Lower EF9128550, Y1.875500A0
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
-
ﬂ FO-1145 Susﬂig%?” Ball | poar Lower EF9128500* YLBZ5500AC*

=

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: FO-10992

Lateral Arm
Weight: 2013 Length: 521  Bolt Metric: M12X1,25
MODEL NO BOOY CODE YEAR DIRECTIONS
TRIBUTE 1st Gen 2001-2006  Rear Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
-
ﬂ FO-1145 | ouspensionBal [ ponn) ower
) Joint
TEKNOROT REF: FO-1108
Suspension Control Arm and
Ba//[jo/'nm ssemb/ YEAR ONLY
4 2013-2015
Weight: 7602  Length: 3395  Bolt Metric: M16X15
MODEL NO BOOY CODE YEAR DIRECTIONS
: Front Right
FLEX 2nd Gen 2013-2019 L ower
COMPONENTS NUMBER NAME DIRECTIONS
FD-BS248
FD-BS245

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIAZ A

OEMNO

nuary

EF9128550, YLEZ5500AD

OEMNO

EF91285007, YLE8Z5500AC*

ADAPTABLEFOR [FORD

OEMNO

FA5Z3078A

OEMNO




{$ T=NOoROT

TEKNOROT REF: FO-1108 ADAPTABLEFOR R
Suspension Control Arm and

. YEAR ONLY
Ball Joint Assembly 2013-2017

Weight: 7802  Length: 3395  Bolt Metric. M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
TAURUS 6th Gen 2010-2017 L ower FALZ3078A

COMPONENTS NUMBER NAME DIRECTIONS OEM NO
FD-B5248
FD-B5245

TEKNOROT REF: FO-1108 ADAPTABLEFOR [ INCOLN
4 2013-2017

Weight: 7602  Length: 3395  Bolt Metric: M16X15

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
. Front Right
MKT 1stGen 20089-2019 Lower FABZ3078A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
FD-B5248
FD-B5245

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF. FO-1109

Suspension Control Arm and
Ball Joint Assembly

“

Weight: 7802  Length: 3395  Bolt Metric. M16X1,5
MODEL NO BOOY CODE
FLEX 2nd Gen
COMPONENTS NUMBER
FD-BS248
FD-BS245

TEKNOROT REF: FO-1109

Suspension Control Arm and
Ball Joint Assembly

“

Weight: 7602  Length. 3395  Bolt Metric: M16X1,5
MODEL NO BOOY CODE
TAURUS bth Gen
COMPONENTS NUMBER
FD-B5248
FD-B5245

YEAR ONLY
2013-2015

YEAR DIRECTIONS
2013-2018  Front Left Lower
NAME DIRECTIONS
YEAR ONLY
2013-2017
YEAR DIRECTIONS
2010-2017  Front Left Lower
NAME DIRECTIONS

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

FA5Z3079A

OEMNO

ADAPTABLEFOR [FORD

OEMNO

FA5Z30759A

OEMNO




[ =
{» T&XNOROT

nuary

ADAPTABLEFOR [ INCOLN

OEMNO

FA5Z3079A

OEMNO

ADAPTABLEFOR [FORD

TEKNOROT REF: FO-11089
- 4 2013-2017
Weight: 7802  Length: 3395  Bolt Metric. M16X1,5
MODEL NO BOODY CODE YEAR DIRECTIONS
MKT 1stGen 2009-2019  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
FD-BS248
FD-BS245
TEKNOROT REF: FO-1164
Suspension Ball Joint 1.0/15L PETROL
@
BHS
L25%
Weight: 0608 Length: 70
MODEL NO BOOY CODE YEAR DIRECTIONS
FOCUS 4th Gen 2019- Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

2216265%



A\ TXNOROT

G N
\) STEERING E SUSPENSION PARTS anuary

TEKNOROT REF: FO-1227 ADAPTABLEFOR FOR[
Suspension Stabilizer Bar Link Moog type-HD Design

=

Weight: 0185 Length: 113 Bolt Metric: 3/8 -16 UNC RH

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
K390130, 546188B000, 5547549544,
FOCUS ITUSA Type 2005-2010 Rear 808134100

TEKNOROT REF: FO-1227 AOATABLEFOR [SUIZL)
Suspension Stabilizer Bar Link Moog type-HD Design
YEAR ONLY
1988-1995
=
Weight: 0185 Length: 113  Bolt Metric: 3/6 -16 UNC RH
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. K90130, 5461888000, 5547549544,
Pickup 1985-2002 Rear SAR19A4100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: FO-1227 ADAPTABLEFOR [SLJZL/
Suspension Stabilizer Bar Link Moog type-HD Design

YEAR ONLY

1991-1997

=

Weight: 01685  Length: 113  Bolt Metric: 3/8 -16 UNC RH

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
90130, 5461666000, 5342549544,
RODED 1981-2004 Rear 808134100
TEKNOROT REF. FO-1227 ApAPTABLEFOR MIAZDA
Suspension Stabilizer Bar Link Moog type-HD Design

=

Weight: 0185 Length: 113  Bolt Metric: 3/8 -16 UNC RH

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

K90130, 546188B000, 55475495A4,

323 BG, 6th Gen 1989-1994 Rear 6AB134100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF. FO-1227 ADAPTABLEFOR MAZ DA
Suspension Stabilizer Bar Link Moog type-HD Design

Weight: 0185 Length: 113 Bolt Metric: 3/8 -16 UNC RH

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
K90130, 546188B000, 55475495AA,
PROTEGE BG, 6th Gen 1989-1994 Rear 908134100

TEKNOROT REF: FO-1227 ADAPTABLEFOR TOYOTA
Suspension Stabilizer Bar Link Moog type

Weight: 0185 Length: 113  Bolt Metric: 3/6 -16 UNC RH

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
K90130, 546188B000. 5547549544,

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. FO-1231 ADAPTABLEFOR FOR[
Steering Tie Rod End

Weight: 0488  Length: 116  Bolt Metric: M10X1,5  Housing Metric: M16X15

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
FocuUS 4th Gen 2019- Front Right 2194042, JX6C3C367AA
TEKNOROT REF: FO-1232 ADAPTABLEFOR (R[]
Steering Tie Rod End

Weight: 0468 Length: 116  Bolt Metric: M10X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FOCUS 4th Gen 2019- Front Left 2194040, IX6C3C437AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TSNOROT

»
k’ STEERING 6 SUSPENSION PARTS nuary

TEKNOROT REF: FO-1236 ADAPTABLEFOR FOR[
Suspension Stabilizer Bar Link AWD

Weight: 134  Length: 300  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

EXCURSION 2000-2005  Front Right 10375K483BA, K80273
TEKNOROT REF. FO-1236 ADAPTABLEFOR FORD
Suspension Stabilizer Bar Link AWD '

YEAR ONLY
1999-2004

D

Weight: 1,34  Length: 300  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-250 SUPER DUTY IstGen 19899-2007 Front Right 10375K483BA, KBOZ73

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(s TENOROT o2

TEKNOROT REF: FO-1236 ADAPTABLEFOR FOR[
Suspension Stabilizer Bar Link AWD

YEAR ONLY
I 1999-2004

=9

Weight: 134  Length: 300  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-350 SUPER DUTY 1stGen 18989-2007 Front Right 10575K483BA, K80273
TEKNOROT REF: FO-1236 ADAPTABLEFOR R
Suspension Stabilizer Bar Link AWD
YEAR ONLY
T 1999-2004
Weight: 134  Length: 300  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-450 SUPER DUTY 1stGen 1989-2007 Front Right 10575K483BA, KBO273

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: FO-1236 ADAPTABLEFOR R
Suspension Stabilizer Bar Link AWD
YEAR ONLY
1999-2004
Weight: 134  Length: 300  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
F-550 SUPER DUTY 1st Gen 1999-2007 Front Right 10375K483BA, K80273
TEKNOROT REF: FO-1237 ADAPTABLEFOR FORD
Suspension Stabilizer Bar Link AWD
Weight: 134  Length. 300  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
EXCURSION 2000-2005 Front Left 10375K483BA, K80273

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: FO-1237 soneTaEEFOR FORL)
Suspension Stabilizer Bar Link AWD e
- YEAR ONLY
i1 19899-2004
Weight: 134  Length: 300  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-250 SUPER DUTY 1stGen 18989-2007 Front Left 10575K483BA, K80273
TEKNOROT REF: FO-1237 ADAPTABLEFOR R
Suspension Stabilizer Bar Link AWD
- YEAR ONLY
i 1999-2004
Weight: 134  Length: 300  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-350 SUPER DUTY IstGen 1999-2007 Front Left 10375K483BA, K80273

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

TEKNOROT REF: FO-1237
Suspension Stabilizer Bar Link

Weight: 1,34 Length: 300  Bolt Metric: M12X1,75

MODEL NO BODY CODE

F-450 SUPER DUTY 1st Gen

TEKNOROT REF. FO-1237
Suspension Stabilizer Bar Link

Weight: 134  Length. 300  Bolt Metric: M12X1,75

MODEL NO BODY CODE

F-550 SUPER DUTY 1st Gen

ADAPTABLEFOR FORD
AWD
YEAR ONLY
19939-2004
YEAR DIRECTIONS OEMNO
1999-2007 Front Left 10575K483BA, K80273
ADAPTABLEFOR [FORD
AWD
YEAR ONLY
1999-2004
YEAR DIRECTIONS OEMNO
1999-2007 Front Left 10375K483BA, KBOZ273

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




(s TEnoroT -

TEKNOROT REF. FO-1256 ADAPTABLEFOR FORD
Suspension Stabilizer Bar Link

Weight: 0435  Length: 67,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
BRONCO 18980-1996 Front Right F1TZ5K4830
TEKNOROT REF: FO-1256 sowemsEFoR FORD)

Suspension Stabilizer Bar Link

Weight: 0435 Length: 675

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

F-150 1980-1996 Front Right FI1TZ5K483C

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF. FO-1256
Suspension Stabilizer Bar Link

Weight: 0435  Length: 67,5

MODEL NO BODY CODE YEAR DIRECTIONS

F-250 1980-1997 Front Right

TEKNOROT REF. FO-1256
Suspension Stabilizer Bar Link

Weight: 0435  Length: 67,5

MODEL NO BODY CODE YEAR DIRECTIONS

F-350 1980-1997 Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

nuary

ADAPTABLEFOR FORD

LR

ﬂi_’_’ = g *

OEMNO

F1TZ5K483C0

ADAPTABLEFOR [FORD

OEMNO

FI1TZ5K483C



e —
{» T&XNOROT

TEKNOROT REF. FO-1257
Suspension Stabilizer Bar Link

oo

Weight: 0435  Length: 67,5

MODEL NO BODY CODE YEAR DIRECTIONS

BRONCO 1980-1996 Front Left

TEKNOROT REF. FO-1257
Suspension Stabilizer Bar Link

oo

Weight: 0435  Length: 67,5

MODEL NO BODY CODE YEAR DIRECTIONS

F-150 1980-1996 Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR FORD

OEMNO

F1TZ5K483B

ADAPTABLEFOR [FORD

OEMNO

F1TZ5K4838




[ =
{» T&XNOROT

TEKNOROT REF. FO-1257
Suspension Stabilizer Bar Link

oo

Weight: 0435  Length: 67,5

MODEL NO BODY CODE YEAR DIRECTIONS

F-250 1980-1997 Front Left

TEKNOROT REF. FO-1257
Suspension Stabilizer Bar Link

oo

Weight: 0435  Length: 67,5

MODEL NO BODY CODE YEAR DIRECTIONS

F-350 1980-1997 Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

nuary

ADAPTABLEFOR FORD

LR

OEMNO

F1TZ5K483B

ADAPTABLEFOR [FORD

OEMNO

F1TZ5K4838



Ve

TEKNOROT REF: FO-1258 ADAPTABLEFCR FORD

Suspension Control Arm and
Ball Joint Assembly

4
F
£

Weight: 2151  Length: 3472

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
3 . Front Right
F-150 13th Gen 2015 Loper FL373084B
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ FO-1135 S“SDEJZ%‘;” Ball | tront Upper FL373084B" FL3730858*
e SB1345 BONrOIAT 1 oot Uper AL573084B* AL3730658"
&S Bushing
TEKNOROT REF: FO-1259 ADAPTABLEFOR (R[]
Suspension Control Arm and
Ball Joint Assembly

<

Weight: 2151  Length. 3472

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
F-150 13th Gen 2015- Front Left Upper FL3730858B
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
‘ Fo1135 | O ”SDQJZ%’?” Bal |\ rront Upper FL373084B* FL3730858*
e SB1345 ControlATm . ot Uper AL3730848*, AL3730856*
&S Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



AT
W ENOROT

TEKNOROT REF: FO-1266 ADAPTABLEFCR FORD

Suspension Stabilizer Bar Link MOOG TYPE
Hit

< -

Weight: 021 Length: 138  Housing Metric: 3/8 -16 UNC

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
9231, 515180344, E9275A486,
ESCORT 1991-2003 Rear F10757456A
TEKNOROT REF: FO-1266 woAPTELEFR FORD
Suspension Stabilizer Bar Link MOOG TYPE

Hit

< -

Weight: 021  Length: 138  Housing Metric.: 3/8 -16 UNC

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
K9231, 5151808AA, ES275A486,

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



7
O ENaRAOT

TEKNOROT REF: FO-1266

Suspension Stabilizer Bar Link MOOG TYPE
Hit YEAR ONLY
2010-2015

< = -

Weight: 021 Length: 138  Housing Metric: 3/8 -16 UNC
MODEL NO BODY CODE YEAR DIRECTIONS

COMPASS MK49 2006-2015 Rear

TEKNOROT REF: FO-1266

Suspension Stabilizer Bar Link MOOG TYPE
Hit YEAR ONLY
2010-2015

< = -

Weight: 021  Length: 138  Housing Metric.: 3/8 -16 UNC
MODEL NO BODY CODE YEAR DIRECTIONS

PATRIOT 2007-2015 Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

]
L january

ADAPTABLEFOR _JEEP

OEMNO

K9251, 5151803AA, ES275A486,
F10757486A

ADAPTABLEFOR _JEEP

OEMNO

K9231, 5151808AA, ES275A486,
FI10Z57486A



{$ T=NOoROT

TEKNOROT REF: FO-1378 ADAPTABLEFOR FORD

Lateral Arm Handling Suspension

O

Weight: 2901  Length.: 490

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
1548460, 1223951
C-MAX 2004-2010 Rear Lower 1231454
1253733
TEKNOROT REF: FO-1378 AOAPTABLEFOR R[]
Lateral Arm Sedan/Handling
Suspension
Weight: 2901  Length: 490
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
1548460, 1223951
FOCUS Il europe made 2004-2011 Rear Lower 1231454
1253733

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF. FO-1449

Lateral Arm
Weight: 2598  Length: 329
MODEL NO BODY CODE
EXPEDITION 3rd Gen(U324)

TEKNOROT REF: FO-1449
Lateral Arm

e

Weight: 25968  Length: 329
MODEL NO BODY CODE
NAVIGATOR 3rd Gen, U326

YEAR

2007-2015

YEAR

2007-2017

anuary

ADAPTABLEFOR FORD

DIRECTIONS

Rear Lower
Forward

OEMNO

/L175AF72AA

ADAPTABLEFOR [ INGOLN

DIRECTIONS

Rear Lower

Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

7L1Z5A972AA



-
{5 TXNOROT

TEKNOROT REF: H-1031
Steering Tie Rod End

‘@

Bolt Metric: M12X1,25  Housing Metric: M14X1,5

Weight: 0623  Length: 164

MODEL NO BODY CODE YEAR DIRECTIONS

2017- Front Right

CR-V V

TEKNOROT REF: H-1032
Steering Tie Rod End

:5

g™

Weight: 0623  Length.: 164  Bolt Metric: M12X1,25  Housing Metric. M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
CR-V % 2017- Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

anuary

ADAPTABLEFOR HONDA

OEMNO

53540TLAALI

ADAPTABLEFOR HONDA

OEMNO

53560TLAAL]



N TNOROT

A\ STEERING 6 SUSPENSION PARTS January

TEKNOROT REF: H-1133 ADAPTABLE FOR HONDA
Steering Tie Rod

A ——— g

Weight: 0587  Length: 265

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
CR-V V 2017- Front 53610TLAAS]T
TEKNOROT REF: H-1168 ADAPTABLEFOR HONDA
Lateral Arm

Weight: 088  Length: 217  Bolt Metric: M12X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Rear Upper
ACCORD Vil 2003-2008 Forward 523905DAA01

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: JA-1008

Suspension Control Arm and
Ball Joint Assembly

a - ete

L
&

Weight: 2351  Length: 363  Bolt Metric: M14X15
MODEL NO BODY CODE YEAR
XE X760 2015-
COMPONENTS NUMBER NAME
= i Lateral Arm
- CH-914 Bushing
TEKNOROT REF: JA-1008
Suspension Control Arm and
Ball Joint Assembly
D
Weight: 2351  Length: 363  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR
XF X260 2016-
COMPONENTS NUMBER NAME
= i Lateral Arm
- CH-914 Bushing

nuary

ADAPTABLEFOR JAGLIAR
4x2

DIRECTIONS OEMNO
mvi;i”;ﬂ%@;m T2H19026, T2H3194
DIRECTIONS OEMNO
Rear 23461856*
ADAPTABLE FOR _/A GUA P
4x2

DIRECTIONS DEMND

Lg\f/gnéggxg I, T2HI1S026, T2H3194
DIRECTIONS DEMND
Rear 28461856™

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



AT
W ENOROT

TEKNOROT REF. JA-10082 ADAPTABLEFOR JAGLIAR

Suspension Control Arm and
Ball Joint Assembly

B A
Weight: 2536 Length: 398
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
Front Lower
XF X250 2015- Forward T2H24313, T2H3196
TEKNOROT REF: JA-1009 ADAPTABLEFCR JAGUAR
Suspension Control Arm and 4x2

Ball Joint Assembly

3!

% e

Weight: 2351  Length: 363  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
XE X760 2015- Pearward T2H19029 T2H3195
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
= i Lateral Arm .
< CH-914 Bushing Rear 23461856

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF: JA-1009

Suspension Control Arm and
Ball Joint Assembly

X

e e

Weight: 2351  Length: 363  Bolt Metric: M14X1,5
MODEL NO BODY CODE
XF X260
COMPONENTS NUMBER
3 CH-914

TEKNOROT REF. JA-928
Suspension Control Arm

= j‘ﬁ:ﬁw f_' a
& e

Weight: 2662  Length. 421
MODEL NO BODY CODE
X/ X351

YEAR

2016-
NAME

Lateral Arm
Bushing

YEAR

2010-

4x2

| anuary

ADAPTABLEFOR JAGLIAR

DIRECTIONS

Front Left Lower
Rearward

DIRECTIONS

Rear

DIRECTIONS

Front Lower
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

T2H19028, T2H3195

OEMNO

23461856™

ADAPTABLEFOR JAGLIAR

OEMNO

02048935, 0206343, AWI35C256AF



{$ T=NOoROT

TEKNOROT REF. JE-429 ADAPTABLEFOR _JEEP
Lateral Arm

Weight: 2074  Length. 402

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

WRANGLER 1996-2007  Rear Lower 5208865448, 520868654
TEKNOROT REF. HI-599 ADARTACEC R LN DA/
Lateral Arm 4AWD

Ly

Weight: 1203  Length: 2745

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

5510025100, 551002W150,

SANTA FE Il DM 2012-2018 Rear Upper 551002W100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: KI-599 ADAPTABLEFOR H]A
Lateral Arm 4wo

YEAR ONLY

‘ 2012-2014

Weight: 1203  Length: 274,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
5510025100, 551002W150.
SORENTO XM 2009-2014 Rear Upper 551002W100
TEKNOROT REF: LA-338 ADAPTABLEFOR _JAGUAR
Lateral Arm

R

Weight: 1029  Length: 21915

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
s . Rear Right
E-PACE 1stGen 2017 Forward LROS7278, LRO68166

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ry
{5 T=NOROT

TEKNOROT REF: LA-338
Lateral Arm

S

Weight: 1,029  Length: 21915

MODEL NO BODY CODE

DISCOVERY SPORT L550

TEKNOROT REF: LA-339
Lateral Arm

Weight: 1029  Length: 21915

MODEL NO BODY CODE

E-PACE 1st Gen

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2015-

YEAR

2017-

vary

ADAPTABLEFOR | AND ROVER

DIRECTIONS

Rear Right
Forward

DIRECTIONS

Rear Left
Forward

OEMNO

LRO97278, LRO6E166

ADAPTABLEFOR JAGLIAR

OEMNO

LROS7278, LRO6E167



ry
{5 T=NOROT

TEKNOROT REF: LA-339
Lateral Arm

Weight: 1029

Length: 21915

MODEL NO BODY CODE

DISCOVERY SPORT L550

TEKNOROT REF. LN-316
Suspension Stabilizer Bar Link

‘@Me
>,

Weight: 024  Length: 161  Bolt Metric. M10X1,5
MODEL NO BOOY CODE
CONTINENTAL

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2015-

YEAR

1995-2002

wary

ADAPTABLEFOR | AND ROVER

DIRECTIONS

Rear Left
Forward

OEMNO

LROS97278, LRO68167

ADAPTABLEFOR [ INGOLN

DIRECTIONS

Rear Right

OEMNO

F5075A486A, FE0Y5A486A



TEKNOROT REF. LN-317
Suspension Stabilizer Bar Link

&

&

-@a'

Weight: 024  Length: 161  Bolt Metric: M10X1,5
MODEL NO BOOY CODE
CONTINENTAL

TEKNOROT REF: LX-3489
Lateral Arm

Weight: 1267  Length: 279
MODEL NO BODY CODE
GS 4th Gen (L10)

YEAR

1995-2002

adgjustable, Camber Plus or
Minus 3 Degrees

YEAR

2011-

nuary

ADAPTABLEFOR [ INCOLN

DIRECTIONS

Rear Left

YEAR ONLY
2013-2015

DIRECTIONS

Rear Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR [ EXLIS

OEMNO

F5075A4868B, F50YBA4665

L3

OEMNO

CMS5861227



TEKNOROT REF: LX-349 ADAPTABLEFOR [ EXLIS
Lateral Arm
YEAR ONLY
2014-2015
® )
Weight: 1267  Length.: 279
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
15250 4th Gen XEZ0 2014- Rear Lower CMS861227
TEKNOROT REF: LX-BS010 AOAPTABLEFOR | EXLJS
Lateral Arm Bushing - =
Weight: 0198  Length: 40
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
487100E030%*, 487100E060%,
X350 ALIO 2010-2015 Rear Lower 187100E080*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
Cm—— LX-348 Lateral Arm Rear Lower 4871e+35, 48716+65, 4,8716+85

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT -

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: LX-BSO10 ADAPTABLEFOR [ EXUIS
Lateral Arm Bushing

Weight: 0198  Length: 40

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
487100E030%, 487100E060",
RX450h ALIO 2010-2015 Rear Lower 487100E080"*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Cm—— LX-348 Lateral Arm Rear Lower 4,871e+35, 4,8716+65, 4871e+85

TEKNOROT REF: LX-BSO10 ADAPTABLEFOR TOYOTA
Lateral Arm Bushing

Weight: 0198 Length: 40

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
487100E030% 487100E060%,
HIGHLANDER XU50 2013-2019 Rear Lower 487100E080*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
H LX-348 Lateral Arm Rear Lower 4.871e+35, 4871e+65, 48716+85

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=NOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: LX-BS011 ADAPTABLEFOR | EXUJS
Lateral Arm Bushing R R

Weight: 0299  Length: 54

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
487100E030%, 487100E060",
RX350 ALIO 2010-2015 Rear Lower 187100E080*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Cm—— LX-348 Lateral Arm Rear Lower 4,871e+35, 4,8716+65, 4871e+85

TEKNOROT REF. LX-BS011 ADAPTABLEFOR | EXLJS
Lateral Arm Bushing

Weight: 0299  Length. 54

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
487100E030% 487100E060%,
RX450h ALIO 2010-2015 Rear Lower 487100E080*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
H LX-348 Lateral Arm Rear Lower 4.871e+35, 4871e+65, 48716+85

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T=XNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. LX-BS011 ADAPTABLEFOR TOYOTA
Lateral Arm Bushing

Weight: 0299  Length: 54

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
487100E030%, 487100E060",
HIGHLANDER XU50 2013-2019 Rear Lower 487100E080"
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
Cm—— LX-348 Lateral Arm Rear Lower 4,871e+35, 4,8716+65, 4871e+85

TEKNOROT REF: M-1009 ADAPTABLEFOR MERCEDES

Lateral Arm

)

Weight: 0624  Length: 257  Bolt Metric: M10X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Rear Lower
SLH-CLASS R172 2011-2019 Pearward A1723500153, 1723500153

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: M-1037

Lateral Arm

Weight: 055  Length: 140
MODEL NO BODY CODE
SPRINTER 3rd Gen

TEKNOROT REF: M-1046

Lateral Arm
Weight: 066  Length: 210
MODEL NO BODY CODE
SPRINTER 3rd Gen

YEAR

2019-

YEAR

2019-

4X4

DIRECTIONS

Rear Forward

RWD

DIRECTIONS

Rear Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

anuary

ADAPTABLEFOR MERGCEDES

OEMNO

8073203700

ADAPTABLEFOR MIERCEDES

OEMNO

9073204201



[ =
{» T&XNOROT

TEKNOROT REF: M-1047
Lateral Arm

p—

Weight: 037  Length: 212
MODEL NO BODY CODE

SPRINTER 3rd Gen

TEKNOROT REF: M-1053
Steering Tie Rod

— ———

anuary

ADAPTABLEFOR MERGCEDES
RWD

YEAR DIRECTIONS OEMNO
2019- Rear Rearward 8073205600
ADAPTABLEFOR MERCEDES

Weight: 0589  Length: 243  Bolt Metric: M1I6X15  Housing Metric: M16X1,5

MODEL NO

SPRINTER 3rd Gen

BODY CODE

OEMNO

YEAR DIRECTIONS

2019- Front A8104606200, 9104606200

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TSNOROT

»
k’ STEERING 6 SUSPENSION PARTS nuary

TEKNOROT REF: M-1053K ADAPTABLEFOR MIERCEDES
Steering Tie Rod Hit with accessories

i

Weight: 0676  Length: 243  Bolt Metric: M16X15  Housing Metric: M16X15

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

SPRINTER 3rd Gen 2019- Front A9104606200, 9104606200
TEKNOROT REF: M-1054 ADAPTABLEFOR MERCEDES
Suspension Ball Joint

~
" .

Weight: 0,856  Length. 1035  Bolt Metric. M18X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SPRINTER 3rd Gen 2019- Fron Lower A8103350400, 9103350400

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




e —
{» T&XNOROT

TEKNOROT REF: M-1056
Lateral Arm

r——

Weight: 044  Length: 286
MODEL NO BOODY CODE YEAR
SPRINTER 3rd Gen 2019-
TEKNOROT REF: M-1068
Suspension Control Arm and
Ball Joint Assembly
Weight: 2611  Length. 447  Bolt Metric: M16X1,5
MODEL NO BODY CODE YEAR
CLS-CLASS 2018-

DIRECTIONS

Rear Forward

FOR 4X4

nuary

ADAPTABLEFOR MERGCEDES

OEMNO

9073204101

ADAPTABLEFOR MIERCEDES

DIRECTIONS

Front Right
Lower Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

2133302200



TEKNOROT REF: M-1068 ADAPTABLEFOR MERCEDES

Suspension Control Arm and
Ball Joint Assembly

/A TECNOROT

STEERING 6 SUSPENSION PARTS

Weight: 2611  Length. 447  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Front Left Lower
E-CLASS W213 4x4 2016- Formerd 2133302200
TEKNOROT REF: M-1069 ADAPTABLEFOR MIERCEDES
Suspension Control Arm and FOR 4X4
Ball Joint Assembly

gﬁé -3 — @

Weight: 2611  Length. 447  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. Front Right
CLS-CLASS 2018 L ower Forward 2133302100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



S\ TKNOROT

A T=
R S e

TEKNOROT REF: M-1069 ADAPTABLEFOR MERCEDES

Suspension Control Arm and
Ball Joint Assembly

(3 .

Weight: 2611  Length. 447  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
E-CLASS W213 4x4 2016- Forward 2133302100
TEKNOROT REF: MA-878 ADAPTABLEFOR MAZDIA
Lateral Arm

Weight: 4232  Length: 456

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

) GG 2002-2007 Rear Right GZ26A28500A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ry
{5 T=NOROT

TEKNOROT REF: MA-879
Lateral Arm

ADAPTABLEFOR MIAZ A

Weight: 4232  Length. 456
MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
6 GG 2002-2007 Rear Left G26A28350A
TEKNOROT REF: MA-958 A0ATABLEFOR MAZ DA

Suspension Control Arm and

equipment for OL from

Ball Joint Assemnbly 01.2015-
Weight: 3175  Length: 330
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
2 0J 2014- Front Right DOSH34300E, DOSH343000
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
- .
¥ ma-ggs | S USDQJ’;%’?” Ball | tron Lower DO9H34300E* DOSH34300C*
SB 1080 Lontrol Arm Front Outer DI0F34350* D10E34300A*
Bushing
SB 1081 Lontrol Arm Front Inner DI0F34350* D10E34300A*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Ve

TEKNOROT REF: MA-959

Suspension Control Arm and equipment for DL from
Ball Joint Assemnbly 01.2015-

4
F
£

* s

Weight: 3175  Length: 330

MODEL NO BOODY CODE YEAR DIRECTIONS
2 DJ 2014- Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
- .
‘ MA-935 SUsp ension gal Fron Lower
- Joint
SB 1080 Confro/’Arm Front Outer
Bushing
SB 1061 control Arm Front Inner
Bushing

TEKNOROT REF: MA-8993
Steering Tie Rod

*’-—M-ﬂm_m

Weight: 057  Length: 2565  Bolt Metric. M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS

CX-5 KF 2017- Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIAZ A

OEMNO

DOSH34350E, DOSH34350C

OEMNO

DOSH34300E* DOSH34300C*

D10E34350%, DIOE34300A*

DI10E34350%, D10E34300A*

ADAPTABLEFOR MIAZA

OEMNO

K12332240



/ a

A TXNOROT

1\) STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: MA-995
Suspension Ball Joint

' o

Weight: 0239  Length: 69

MODEL NO BODY CODE YEAR DIRECTIONS

2 DJ 2014- Fron Lower

TEKNOROT REF: N-1025

Suspension Ball Joint
P YEAR ONLY
£ l“’i § 1998-2001
Weight: 0675 Length: 100  Bolt Metric: M18X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS
Pickup (D22] (4WD] 1998-2012 Fron Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIAZ A

OEMNO

DOSH34300E* DOSH34300C%,
DOSH34350E~, DOFH34350C

ADAPTABLEFOR NISSAN

OEMNO

5450025686%, 5450125686*



TEKNOROT REF: N-1068 ADAPTABLEFOR NISSAN

Suspension Control Arm and
Ball Joint Assembly

Weight: 6,938  Length: 4752

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
NAVARA NPS00 (D23) 2015- Front Right 545004KH4A
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
=™
‘ N-1014 Suspension Ball | e ool swer 545004KHAA* . 545014KHAA*
» OO Joint
TEKNOROT REF: N-1068 ADAPTABLEFOR RENAULT
Suspension Control Arm and
Ball Joint Assembly

Weight: 63938  Length: 4752

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
. Front Right
ALASKAN 2018 - 545004KHA4A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
=™
‘ N-1014 SuspensionBall | oo ower 545004KHAA* | 5A5014KHAA*
» OO Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: N-1069

Suspension Control Arm and
Ball Joint Assembly

Length.: 4752

Weight: 6,938
MODEL NO BODY CODE YEAR DIRECTIONS
NAVARA NP300 (D23) 2015- Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
=
: Suspension Ball
_‘ ® N-1014 Joint Front Lower
TEKNOROT REF: N-1069
Suspension Control Arm and
Ball Joint Assembly
Weight: 63938  Length: 472
MODEL NO BODY CODE YEAR DIRECTIONS
ALASHAN 2018- Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
=
3 Suspension Ball
_‘ o N-1014 ot Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

nuary

ADAPTABLEFOR NIISSAN

OEMNO

545014KHA4A

OEMNO

545004KHA4A™, 545014KHAA*

ADAPTABLEFOR RENAUL T

OEMNO

545014KH4A

OEMNO

545004KH4A*, 545014KH4A™



ry
{5 T=NOROT

TEKNOROT REF: N-1108
Suspension Control Arm and

. YEAR ONLY
Ball Joint Assembl,
4 1998-2001
Weight: 7259  Length: 4115  Bolt Metric: M18X1,5
MODEL NO BOODY CODE YEAR DIRECTIONS
. . Front Right
Pickup (D22) (4WD] 1998-2012 L ower
COMPONENTS NUMBER NAME DIRECTIONS
‘ N-1015 Susp ension gal Front Lower
Joint
TEKNOROT REF: N-1109
Suspension Control Arrm and
Ba//[ja/'nm ssembly YEAR ONLY
1998-2001
Weight: 7259  Length: 4115  Bolt Metric. M18X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS
Pickup (D22] (4WD] 1998-2012  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
‘ N1o15 | SuspensonBal L oo ower
Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

wary

ADAPTABLEFOR NIISSAN

LR

OEMNO

5450025688

OEMNO

E4500VK385* E4501VK385*

ADAPTABLEFOR NISSAN

OEMNO

5450125688

OEMNO

E4500VK385* E4501VK385*



Ve

TEKNOROT REF: N-1118
Suspension Control Arm and

4
F
£

. YEAR ONLY
Ball Joint Assembl,
4 2001-2012
Weight: 7224  Length: 4115  Bolt Metric: M18X1,5
MODEL NO BOODY CODE YEAR DIRECTIONS
. . Front Right
Pickup (D22) (4WD] 1998-2012 L ower
COMPONENTS NUMBER NAME DIRECTIONS
‘ N-1015 SUsp ension gal Front Lower
Joint
TEKNOROT REF: N-1119
Suspension Control Arrm and
Ba//eamm ssembl YEAR ONLY
4 2001-2012
Weight: 7224 Length: 4115  Bolt Metric: M16X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS
Pickup (D22] (4WD] 1998-2012  Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
‘ N1o15 | SuspensonBal L oo ower
Joint

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR NIISSAN

OEMNO

E4500VK385

OEMNO

E4500VK385* E4501VK385*

ADAPTABLEFOR NISSAN

OEMNO

E4501VK385

OEMNO

E4500VK385* E4501VK385*



Ve

TEKNOROT REF: N-1138
Suspension Control Arm and

4
F
£

p o Only 4x2
Ball Joint Assem
e YEAR ONLY
19898-2002
Weight: 24398  Length: 272  Bolt Metric: M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS
. Front Right
FRONTIER 1998-2004 Upper
COMPONENTS NUMBER NAME DIRECTIONS
& ,
i Suspension Ball
‘ ® N-1004 Joint Front Upper
TEKNOROT REF: N-1138
Suspension Control Arm and only 4x2
Ball Joint Assemnbl,
Losemy YEAR ONLY
1998-2005
Weight: 2498  Length: 272  Bolt Metric: M14X1,5
MODEL NO BOODY CODE YEAR DIRECTIONS
, . Front Right
Pickup (D22) (2WD) 1998-2012 Upper
COMPONENTS NUMBER NAME DIRECTIONS
& ,
: Suspension Ball
‘ S N-1004 o Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR NIISSAN

OEMNO

E4524VKO85
OEMNO

E4524VK385%, 54524256857,
54524256867, 54524VK365*

ADAPTABLEFOR NISSAN

OEMNO

E4524VKO85

OEMNO

E4524VK365%, 54524256857,
6452425686, 54524VK365*



Ve

TEKNOROT REF: N-1139
Suspension Control Arm and

4
F
£

p o Only 4x2
Ball Joint Assem,
/ YEAR ONLY
1998-2002
Weight: 24398  Length: 272  Bolt Metric: M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS
FRONTIER 1998-2004  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
L3 .
i Suspension Ball
‘ ® N-1004 Joint Front Upper
TEKNOROT REF: N-1139
Suspension Control Arm and only 4x2
Ball Joint Assemnbl/
d YEAR ONLY
1998-2005
Weight: 2498  Length: 272  Bolt Metric: M14X1,5
MODEL NO BODY CODE YEAR DIRECTIONS
Pickup (D22) (2WD] 1998-2012  Front Left Upper
COMPONENTS NUMBER NAME DIRECTIONS
L3 .
: Suspension Ball
‘ S N-1004 o Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR NIISSAN

OEMNO

E4525VKO85
OEMNO

E4524VK385%, 54524256857,
54524256867, 54524VK365*

ADAPTABLEFOR NISSAN

OEMNO

E4525VKO85

OEMNO

E4524VK365%, 54524256857,
6452425686, 54524VK365*



A\ TXNOROT

G N
k) STEERING E SUSPENSION PARTS anuary

TEKNOROT REF. O-1006 ADAPTABLEFOR CADILLAC
Suspension Stabilizer Bar Link

r\'

Weight: 0285  Length: 180

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CATERA 1897-2001 Rear Right 90334916, K80259
TEKNOROT REF: 0-1006 ADAPTABLEFOR (JPEL

Suspension Stabilizer Bar Link

r\'

Weight: 0285  Length: 160

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

OMEGA (B] 1994-2003 Rear Right 90354916, K60259

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

G N
k) STEERING E SUSPENSION PARTS anuary

TEKNOROT REF: O-1007 ADAPTABLEFOR CADILLAC
Suspension Stabilizer Bar Link

o @

Weight: 0285  Length: 180

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
CATERA 1997-2001 Rear Left 90334915
TEKNOROT REF. 0-1007 ADAPTABLEFOR (JPEL

Suspension Stabilizer Bar Link

o @

Weight: 0285  Length: 160

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

OMEGA (B] 1994-2003 Rear Left 90354915

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 TENOROT

TEKNOROT REF: 0-1008

Suspension Control Arm and
Ball Joint Assembly

Weight: 356  Length: 355  Bolt Metric: M14X1,75
MODEL NO BOOY CODE YEAR
INSIGNIA B 2016-
COMPONENTS NUMBER NAME
OP-BS150
0OP-BS135

TEKNOROT REF: O0-1009

Suspension Control Arm and
Ball Joint Assembly

-

Weight: 356  Length: 355  Bolt Metric: M14X1,75
MODEL NO BODY CODE YEAR
INSIGNIA B 2016-
COMPONENTS NUMBER NAME
OP-BS130
OP-B5135

ADAPTABLEFOR (JPEL

DIRECTIONS

Front Right
Lower

DIRECTIONS

OEMNO

84198633

OEMNO

ADAPTABLEFOR (JPEL

DIRECTIONS

Front Left Lower

DIRECTIONS

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

84198652

OEMNO




[ =
{» T&XNOROT

TEKNOROT REF. P-1024

Suspension Ball Joint Ch no. from: OPR14574
e YEAR ONLY
2015-2019
ARD S
Weight: 0413  Length: 715
MODEL NO BOOY CODE YEAR DIRECTIONS
2008 2013-2019 Front
TEKNOROT REF. P-1025
Suspension Ball Joint
@
Weight: 0,566  Length: 83  Bolt Metric. M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS
BERLINGO 2018- Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

nuary

ADAPTABLEFOR PELIGEOT

OEMNO

9622126960

ADAPTABLEFOR I TROEN

OEMNO

96851086680



A TSNOROT

»
k’ STEERING 6 SUSPENSION PARTS nuary

TEKNOROT REF.: P-1025 ADAPTABLEFOR PEUGEOT
Suspension Ball Joint

®

Weight: 0566  Length: 83  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS ODEMNO
PARTNER 2018- Front 9831088880
TEKNOROT REF. P-1053 ADAPTABLEFOR CfTROEN

Steering Tie Rod

- ——gg

Weight: 042 Length: 201  Bolt Metric. M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

BERLINGO 2018- Front 1648836780, 1648836680

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF.: P-1053 ADAPTABLEFOR PEUGEOT
Steering Tie Rod

- ——gg

Weight: 042  Length: 201  Bolt Metric: M14X15  Housing Metric.: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO

PARTNER 2018- Front 1648836780, 1648836680
TEKNOROT REF: R-1001 ADAPTABLEFOR RENAUL T
Steering Tie Rod End

i

’:sﬂ-;u <l

Weight: 0,352  Length: 179  Bolt Metric: M10X125  Housing Metric: M14X15

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

cLIO Vv 2020- Front Right 485208986R

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ry
.‘%‘J.STHTEEJNG'ESUSF‘F'\‘SfGN PARTS H

TEKNOROT REF: R-1002 ADAPTABLEFOR RENAULT
Steering Tie Rod End

?.

Weight: 0352  Length: 179  Bolt Metric. M10X1,25  Housing Metric. M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
CcLIO % 2020- Front Left 485205594R
TEKNOROT REF: RA-108 ADAPTABLEFOR RAM
Suspension Control Arm and
Ball Joint Assembly

Weight: 8662  Length: 405

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PROMASTER 1500 2014- Front Right 6815780248
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
F-BS027
. SB673 Lontrol Arm Front Inner 3520.51* 3521.P2*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
o ENOROT vary

TEKNOROT REF: RA-108 ADAPTABLE FOR RAM

Suspension Control Arm and
Ball Joint Assembly

Weight: 8662  Length: 405

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
PROMASTER 2500 2014- Front Right 6815780248
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
FI-BS027
. SB673 control Arm Front Inner 3520.51* 3521.P2*
Bushing
TEKNOROT REF: RA-108 ADAPTABLEFOR RAM
Suspension Control Arm and
Ball Joint Assembly

Weight: 8662  Length: 405

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PROMASTER 3500 2014- Front Right 6815780248
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
F-BS027
. SB673 Lontrol Arm Front Inner 3520.51* 3521.P2*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/ a

N TXNOROT

&%J STEERING 6 SUSPENSION PARTS

r

TEKNOROT REF: RA-109 ADAPTABLE FOR RAM

Suspension Control Arm and
Ball Joint Assembly

Weight: 8662  Length: 405

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
PROMASTER 1500 2014- Front Left Lower 68157803AB
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
FI-BS027
. SB673 control Arm Front Inner 3520.51% 35212
Bushing
TEKNOROT REF: RA-109 ADAPTABLEFOR RAM
Suspension Control Arm and
Ball Joint Assembly

Weight: 8662  Length: 405

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PROMASTER 2500 2014- Front Left Lower 6815780348
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
F-BS027
. SB673 Lontrol Arm Front Inner 3520.51* 3521.P2*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




A\ TXNOROT

G .
K’ STEERING E SUSPENSION PARTS anuary

TEKNOROT REF: RA-109 ADAPTABLE FOR RAM

Suspension Control Arm and
Ball Joint Assembly

Weight: 8662  Length: 405

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
PROMASTER 3500 2014- Front Left Lower 68157803AB
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
FI-BS027
. SB673 Control Amn Front Inner 3520.81* 3521 P2*
Bushing
TEKNOROT REF: SU-678 ADAPTABLEFOR SUIBARL

Lateral Arm

e

Weight: 0995  Length: 4145

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

FORESTER [SG] 2002-2007 Rear Rearward 202505A000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING 6 SUSPENSION PARTS

Lt oy

TEKNOROT REF: SU-679 ADAPTABLEFOR SUBARU

Lateral Arm YEAR ONLY
2006-2007

-——mmm

Weight: 0995  Length: 4145

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
FORESTER (5G] 2002-2007 Rear Forward 202505A070
TEKNOROT REF: SU-688 ADAPTABLEFOR SUBARU
YEAR ONLY
2004-2006

M

Weight: 1242  Length: 401

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
Rear Lower
IMPREZA GD.GG 2000-2007 Forward 20250FE240

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{6 TENoROT e

TEKNOROT REF. SU-698 ADAPTABLEFOR SUBARU
Lateral Arm turbocharged sedan
YEAR ONLY
2004-2007

M

Weight: 137  Length: 411

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
Rear Lower
IMPREZA GD.GG 2000-2007 Forward 20250FE230

ADAPTABLEFOR TYOTA

TEKNOROT REF: T-1037
Suspension Stabilizer Bar Link

é.
q
e - °
& 2
Weight: 051  Length: 166  Bolt Metric: M12X1,25  Housing Metric: M10X1,25
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
HIACE v 1995-2006 Front 4882026051, 4662026050

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: T-1037
Suspension Stabilizer Bar Link

2
4
0099
& &
Weight: 051 Length: 168  Bolt Metric: M12X1,25
MODEL NO BODY CODE
HIACE %

TEKNOROT REF: T-1038

Suspension Control Arm and
Ball Joint Assembly

Weight: 4565  Length: 3735  Bolt Metric: M14X1,5

MODEL NO BODY CODE
COROLLA E170 Usa Type

COMPONENTS NUMBER

i

T-1004

6 SB 457

' SB 458

Housing Metric. M10X1,25

anuary

ADAPTABLEFOR TQYOTA

OEMNO

4882026051, 4682026050

ADAPTABLEFOR TYOTA

YEAR DIRECTIONS
2006-2019 Front
Usa Type
YEAR DIRECTIONS
2013-2018 Front Right
Lower
NAME DIRECTIONS
Ball Joint Front Lower
Control Arm Pear
Bushing
Control Arm Center
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

4806802500

OEMNO

43353008670

4806805070% 48069050707,
4806905070% 4806612260

4806842040% 4606542040*,
4806942040+, 48068050707



{$ T=NOoROT

TEKNOROT REF. T-1038S8 ADAPTABLEFOR TOYOTA
Suspension Control Arm

Usa Type

Weight: 3751  Length. 3582

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
COROLLA F170UsaType  2013-2018 ' ‘Z’; IWR;E” ! 4806802300+
TEKNOROT REF. T-1039 ADAPTABLEFOR TOYOTA
Suspension Control Arm and Usa Type
Ball Joint Assembly

5

Weight: 4565  Length: 3735  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
COROLLA E170 Usa Type 2013-2018  Front Left Lower 4806902300
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
A
& T-1004 Ball Joint Front Lower 4333009670
_ SB457 Control Arm Pear 4806805070%* 48068050707,
Z Bushing 4806905070 4806812260
Control Arm 4806842040 4806942040"
‘ 55458 Bushing Center 4806942040** 4806805070

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

G .
K’ STEERING E SUSPENSION PARTS anuary

TEKNOROT REF: T-10395 ADAPTABLEFOR TOYOTA
Suspension Control Arm Usa Type

Weight: 3751  Length. 3582

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COROLLA E170UsaType = 2013-2018  FrontLeft Lower 4806902300*
TEKNOROT REF: T-1093 ADAPTABLEFOR | EXLJS
Steering Tie Rod Hit - N

s =y

Weight: 0648  Length: 240  Bolt Metric: M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RX350 ALIO 2010-2015 Front Inner 455100T010*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




S TSXNOROT

T .
QW reenine o suspensian panrs 021 January

TEKNOROT REF.: T-1093 ADAPTABLEFOR | EXUIS
Steering Tie Rod Kit

Weight: 0648  Length: 240  Bolt Metric: M16X1,5  Housing Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RX450h ALIO 2010-2015 Front Inner 4551007010*
TEKNOROT REF: T-1093 ADAPTABLEFOR TOYOTA
Steering Tie Rod Hit y Wi =

Weight: 0648  Length: 240  Bolt Metric: M16X1,5  Housing Metric.: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

VENZA 1st Gen 2009-2016 Front Inner 455100T010*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



STEERING 6 SUSPENSION PARTS

Lt

TEKNOROT REF: T-1159 ADAPTABLEFOR TOYOTA

Lateral Arm YEAR ONLY
1997-1999

e —

Weight: 097  Length: 511

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

AVALON XX10XX20 1995-2004 Rear 4871033040

ADAPTABLEFOR TYOTA

TEKNOROT REF: T-1159
Lateral Arm

e —

Weight: 097  Length: 511

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CAMRY XV10 1991-1996 Rear 4871035040

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. T-1159 ADAPTABLEFOR TOYOTA
Lateral Arm

e —

Weight: 097  Length: 511

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
CAMRY Xv20 1996-2001 Rear 4871033040
TEKNOROT REF: TO-BS189 ADAPTABLEFCR TOY O TA
Control Arm Bushing SRS N\
I mi

Weight: 0414  Length: 60

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PRIUS XV40 2016- Front Outer 4806847060*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: TS-1081K

Suspension Control Arm and
Ball Joint Assembly

&g

vo)
Weight: 255  Length. 411  Bolt Metric. M14X1,5
MODEL NO BODY CODE
MODEL §
COMPONENTS NUMBER
9 15-B5002

TEKNOROT REF: TS-1082K

Suspension Control Arm and
Ball Joint Assembly

*9 ®
Weight: 2275  Length: 411  Bolt Metric. M14X1,5
MODEL NO BOOY CODE
MODEL §
COMPONENTS NUMBER
- T15-B5003

with accessories

YEAR ONLY
2012-2016

YEAR DIRECTIONS

2012- Front Right
Lower
NAME DIRECTIONS
Control Arm Front Lower
Bushing Forward
with accessories
YEAR ONLY
2016-

YEAR DIRECTIONS

2012- Front Right
Lower
NAME DIRECTIONS
Control Arm Front Lower
Bushing Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR TESLA

OEMNO

6006664000

OEMNO

600666400C*

ADAPTABLEFOR TESLA

OEMNO

104157500A

OEMNO

104157000A%




e —
{» T&XNOROT

TEKNOROT REF: TS-1091K
Suspension Control Arm and

Ball Joint Assembly
? :
eo*
Weight: 255  Length. 411  Bolt Metric. M14X1,5
MODEL NO BOODY CODE
MODEL S
COMPONENTS NUMBER
e TS-BS002

TEKNOROT REF: TS-1092K

Suspension Control Arm and
Ball Joint Assembly

pis

Lo
Weight: 2275  Length: 411  Bolt Metric. M14X1,5
MODEL NO BOODY CODE
MODEL §
COMPONENTS NUMBER
- T5-B5003

with accessories
YEAR ONLY
2012-2016
YEAR DIRECTIONS
2012- Front Left Lower
NAME DIRECTIONS
Control Arm Front Lower
Bushing Forward
with accessories
YEAR ONLY
2016-
YEAR DIRECTIONS
2012- Front Left Lower
NAME DIRECTIONS
Control Arm Front Lower
Bushing Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR TESLA

OEMNO

6007986000

OEMNO

600666400C*

ADAPTABLEFOR TESLA

OEMNO

104157000A

OEMNO

104157000A%




e
{5 TXNOROT

TEKNOROT REF: VO-878

Suspension Control Arm and
Ball Joint Assembly

Weight: 073  Length: 258  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR
S60 3rd Gen 2019-
TEKNOROT REF. VO-879
Suspension Control Arm and
Ball Joint Assembly
e
'i"ﬁ =
- "-P‘;-j:--l\. -2
Weight: 073 Length: 2568  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR
S60 3rd Gen 2019-

ADAPTABLEFOR /0L VO

DIRECTIONS

Front Right
Upper

OEMNO

31476302

ADAPTABLEFOR /0L VO

DIRECTIONS

Front Left Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

31476301



TEKNOROT REF. VO-878 ;‘

Suspension Control Arm and
Ball Ja/ntA ssembly

Weight: 073  Length: 258  Bolt Metric: M12X1,75

Front Right
Upper

V6o 3rd Gen 2019- 31476302

TEKNOROT REF: VO-879

Suspension Control Arm and
Ball Ja/htAssemb/y

e

Weight: 0,73  Length: 258  Bolt Metric: M12X1,75

V6o 3rd Gen 2019- Front Left Upper 31476301

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 105




{5 TENOROT 2021y

TEKNOROT REF. VW-EMOSE
Engine Mounting 1.0 7S/ engine

Weight: 1677  Length: 2135

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
A3 8V1 2012- Front Right 500199262CK
TEKNOROT REF: VW-EMOS8 ADAPTABLEFOR VOLKSWAGEN

Weight: 1677  Length.: 2135

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

GOLF MK7/MQB 2012- Front Right 500199262CK

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ TENOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: VW-EM101 ADAPTABLEFOR SHODA
Engine Mounting

Weight: 1677  Length: 2135

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
SUPERB (3v3) 2015- Front Right 300199262/
TEKNOROT REF: VW-EM101 ADAPTABLEFOR VOLKSWAGEN

Engine Mourting

Weight: 1677  Length.: 2135

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

PASSAT 362 2014- Front Right 3001992621

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm





